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Z this branch wouldn't exist in the real situation but

it is part of the function y=120/x when you replace
x with negative values.
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5. The function that models Terrence's grade is an example of what type
of function? How is this type of function formed? [OV, page 4]

Answer to SAS1 - Question # 4
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Reciprocal Function.
This graph is called a Hyperbola.

Why does this graph have two parts?
@ because the function is undefined when x=0,
therefore, there is a break in the graph at that point.

The two parts of this graph are called Branches.
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There are two lines the graph approaches as
you move farther from the origin. These lines
are called Asymptotes.
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are located in "Quadrants | and Il1".



How would you describe

207 the end-behavior of this graph?
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The graph is approaching the horizontal line
y=0 on both sides.
This graph has a
Horizontal Asymptote.




